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Q 1 - Consider the following schema -

STUDENTS (student code, first name, last name, email,
phone no, date of birth, honours subject,
percentage of marks);

Which of the following query would display names of all the students whose
honours subject is English, or honours subject is Spanish and percentage of marks
more than 807

A - select first_name, last name from students where (honours_subject = “English”
or honours_subject = “Spanish” ) and percentage_of marks > 80;

B - select first_name, last name from students where honours_subject = “English”
or honours_subject = “Spanish” and percentage_of marks > 80;

C - select first_name, last name from students where honours_subject = “English”
and honours_subject = “Spanish” or percentage_of marks > 80;

D - select first name, last name from students where (honours_subject =
“English”) and honours_subject = “Spanish” and percentage_of marks > 80;

Q 2 - What is returned by SUBSTR(‘TUTORIALS POINT’, -1, 1)?
A-T

B - NULL

C-0

D-N
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Q 3 - Which of the following is not true about USING clause?

A - When more than one column has the same name, USING clause is used for
specifying the column to be joined by equijoin.

B - It is used for matching one column only.
C - You can use a table name or alias in the referenced columns.
D - The NATURAL JOIN and the USING clauses are mutually exclusive.

Q 4 - Which of the following is not a group function?
A - SUM

B - NVL

C - COUNT

D - MIN

Q 5 - Consider the following schema -

STUDENTS (student code, first name, last name, email,
phone no, date of birth, honours subject,
percentage of marks);

Which of the following query will correctly list the average percentage of marks in
each honours subject, when the average is more than 50 percent?

A - select honours_subject, avg(percentage of marks) from students where
avg(percentage_of _marks) > 50.0 group by honours_subject;

B - select honours_subject, avg(percentage of marks) from students having
avg(percentage_of _marks) > 50.0 group by honours_subject;

C - select honours_subject, avg(percentage _of marks) from students group by
honours_subject having avg(percentage_of _marks) > 50.0;

D - None of the above.

Q 6 - In which of the following cases a DML statement is executed?
A - When new rows are added to a table.

B - When a table is created.

C - When a transaction is committed.

D - None of the above.
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Q 7 - A transaction starts when

A - A COMMIT statement is issued

B - A ROLLBACK statement is issued
C - A CREATE statement is used

D - All of the above

Q 8 - Which of the following is not true about complex views?

A - They derive data from more than one table.

B - They contain no functions or grouping.

C - You cannot perform DML operations through a complex view.

D - All of the above are true.

Q 9 - Which of the following is not true about the Pseudocolumns that return the
sequence values?

A - NEXTVAL returns the next available sequence value.
B - CURRVAL gets the current sequence value.
C - PREVVAL gets the previous sequence value.

D - None of the above.

Q 10 - Which of the following code would grant the role student_admin to a user
named william?

A - grant student_admin to william;
B - grant to william student_admin;
C - grant william student_admin;

D - None of the above.
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